ERRKRDHES

ERT—IN—2IBISH—F

2024598208 (&) 130EH6H

m B1 Y>&R3®LE B
[AXE%) 1% :1,500,000  ~ 23#&:525,000 ™  337%:300,000H . 43#&:225,000H 5 3i&:150,000 9
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
YR TA4— i 4 gﬁiﬁ%ﬁﬁ 1:31.4 1-1-1-1 [39.1] - 2 459 g%ﬁgg (Pt
- ) ) BB
R:ZAMOVIUI—Y B:E—E—UFPY (-4) T
FAF it 4 g?ﬁ%ﬁ 1:(31).9 5-5-5-5 |38.9| — 6 | 455 EE;;;%@ (Gizl)
. 3 o IKEFZ
RUFWAVIT BLy RIYTU | S
==5 45 | TIFhEt 1:32.0 3-3-32 [39.5] — 5 476 | RAAIE (k)
FT—R=Z=5A 56.0 (/2 ¢s) | ) F—2=
RE-UR B:F—RZIRE LER%
S 4 6 | IZHEX 1:32.2 4-4-4-4 [39.6| — 3 494 | HP—I5 (EH)
?/9 /_()9'-3 7 56.0 (1172 1) EZEJEEE&
RDVI—TH1—k B:IVI—FILI—F ke
Y 6 | AKX 1:32.3 6-6-6-6 | 39.1| — 4 | 462 | FEHEE (BEH
501101 /7J:FI:E/ 56.0 ) 12 | B =WIF—L
REYFOVY B:YU—R5A SLT7F—L
6155 | UTPHII 43 ggudééicﬁrs 1:(33).3 2-2-2-3 | 40.9| - 1 441 fim (Gizl)
. 6 2
RRARDF—UT BPFAVT D | iesEsmgs
@ 11— —BRIEfL
13—7F— 6.5.4,3,2,1
20—7+— 6,5,4,3,2,1
BEIES /S 6.5,4,3,2,1
40—7F— 6,4,5,3,2,1
o ILRE
BB 6 2108 | [ D94 K 2-6 390 B E 2-6 1,320 3ER 2-4-6 3,000/
B B 6 190 4-6 490 o= 6-2 1,990 3Es 6-2-4 8,800
2 1,040 2-4 1,750
ABCDOVTIRHTERERRODDZ, THERAILZETL




